KE SEMICONDUCTOR KTD998

KOREA ELECTRONICS CO.LTD. TECHNICAL DATA TRIPLE DIFFUSED NPN TRANSISTOR

HIGH POWER AMPLIFIER APPLICATION.
FEATURES R .
+ Recommended for 45~50W Audio H’]_J DIM | MILLIMETERS
Frequency Amplifier Output Stage. BN o s
- Complementary to KTB778. I i a1 c 550020
D 1.20 MAX
m © E 8.00
| i P 5.00
= n = G 17.00+0.30
MAXIMUM RATINGS (Ta=25T) L e Lo | | [ omnisron
CHARACTERISTIC SYMBOL | RATING | UNIT ” T
L 2.00
Collector-Base Voltage VeBo 120 AV L M 220 X
- N SYO::;AX
0] X
Collector-Emitter Voltage Vceo 120 A% HEE P 350
EE Q 100
Emitter-Base Voltage Veno 5 \4 “F < 2 3'02;820
T 42.0
Collector Current Ic 10 A 1. BASE U | 0340+0.15/-0.10
2. COLLECTOR il 10:
Base Current Is 1.0 A 3. EMITTER u e
Collector F’;)‘vv_ezr;g)ssmatmn Pe 80 W
c= TO—3P(H)IS
Junction Temperature 1k 150 T
Storage Temperature Range Tstg -55~150 T
ELECTRICAL CHARACTERISTICS (Ta=25T)

CHARACTERISTIC SYMBOL TEST CONDITION MIN. TYP. | MAX. | UNIT
Collector Cut-off Current Iero Vep=120V, Ip=0 - - 10 UA
Emitter Cut-off Current Teso V=5V, Ic=0 - - 10 UA
Collector-emitter = _ B B
Breakdown Voltage Visrcro 1c=50mA,  15=0 120 v
DC Current Gain hre(Note) | Vee=bV, Ic=1A 55 N 160
Collector-Emitter _ _ o -

Saturation Voltage Ve Ic=5A,  1s=0.5A 25 v
Base-Emitter Voltage ViE V=5V, Ic=HA - - 15 Vv
Transition Frequency fr Vee=bV, Ic=1A - 12 - MHz
Collector Output Capacitance Gop Ves=10V, Iz=0, f=1MHz - 170 - pF
Note: hpg Classification R:55~110, 0:80~160
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http://www.dzsc.com/stock_ktd998.html
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® Ta=Tec
INFINITE HEAT SINK

® 300%x300x2mm Al
HEAT SINK

@ 200x200x2mm Al

HEAT SINK
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Ic MAX(PULSED)*

Ic MAX(CONTINUOUS)\ \ \*

-

* SINGLE NONREPETITIVE
PULSE Te=R25'C

CURVES MUST BE DERATED
LINEARLY WIHT INCREASE
IN TEMPERATURE.
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